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Q. Finally the time that 2py> has promised to meet 1wy has come! mn M 1wy 27 NN (270WN 'VRAZ) VDY 1198 127 BYWIR 2N
1movenn ‘m. In the mst of the @ nom »mnbn learning day and night (27awn ms1am ‘wnaa meoey any snvma 82 ax’), Hashem
saved His children from the hands of the 21 21y, who are trying to devour them, and announced n>yam 83 5283 1N
(=72wn noun vRaz), (T pan P y), and fulfilled His promise (3,57 mo»%) mam »12 By jxsn mmzyn 7y, and instead of
giving mnna wyn to (1778 X717 *pap /Y) Ywan wy, we can be 2»pn the mxn of mnnz awyn: [ was 2wyn and the animal that
turned out to be nnma awyn had already given birth. The baby sheep is hungry, and the mother can’t nurse her because
the milk is wytp. What is the msy? (.2 ayn 'y)

Q. I prepared the oil for the mmum, in glasses that are very narrow on the top, that you can’t fit in a finger, (like the
prepared ones that are sold in the store), and a n71» moved them, did the oil become xnw? (308 777 8y 70 20 7y
179P M7AN AR 2731 ,: 78 N2W DUNWNTY)

Q. There was a n» in one room, and there is a window that’s opened to another room, I didn’t want the mxmw to travel
to the other room, so I placed a glass bowl in the window, does that stop the nxmw? (223215 72391 17177 .0 272 /830 7Y)

Q. 1 »1om2 most people got up for a>nnn nnn. However, there was one 2ap that had a big nas= that was written on it, 272
n°am2 mpan, and another nag» was engraved mna yan 178, I passed by within 4 mnx to see how every word of »7n
was o»pns, did [ become xnw? (.2° 2731,.7% VD ’Y)

Q. I'have a m»na that had a @ and [ was mie the nana. Afterwards nm2ssmy masw nywa the mana became pregnant and had
a baby. Is the baby mayy mreaz moN? (2,7 MMD2 N7 1,3p0 17 YY)

NAPWRD NN220
n"'X we will soon be NIt to be N2 2! Let’s learn the Nid'7n that are van before the nanpn.

It says in V' 10 DT JAIRX D2 TIAN X'71 ,IYW D22 TAYN XY, The plain meaning of the 7109 is referring to a 1D2,
however 7"tn explain that it’s referring to all D'wTjp, whether D'wTp '"wTp or 0'77 D'WUT}. In this 7109 there are two
D"I0'X, one is to put the animal to work, and the second is to shear (cut) the animal’s wool.

Let’s start with the N10'X of nTa (shearing). ® The N10'X of NT'a applies to cutting wool or hair, and applies to all the types
of animals used for N7, namely, sheep, goats, and cattle. (Sheep grow wool, goats grow hair.) ® There’s a npI7Nn
whether birds are included in the N10'x of n7'a. ® Shearing nINn M only includes cutting with a 73, however pulling out
wool by hand is only 227 110K, and they only made it 110X when the wool is being pulled out Y1Ix7? X7w. They did
allow pulling out wool by hand for a 701X (e.g., to see if there’s a Din beneath the wool, or to make an open area to do
nu'nw). If someone pulls out wool I¥7, he must leave the detached wool tangled with the wool that’s still attached, so
it should be obvious that he doesn’t want the wool. ¢ There is a big Dxannx njpi7nn if this N2'7n (allowing to pull out wool
T1xY7) applies to the hair of goats. Since the 11T is to pull the hair of goats by hand, some n'annNKX hold that it is |n 710X
NN, and consequently it is 10X even NIXY (to see if there’s a D). * "wA ("D NNIDA) holds that the nIMn M 110K
only applies if one wants the wool, and the ¥"X1 argues. ¢ If someone was W'Tpn an Ny, there is no N1 110'X on the
mother. ¢ There’s a Nnz1'7nn if DA '"wT have an N1 NI0'N.

ATIAY 110X ¢ The 110X of NTIAY applies to all niany (like by na), and there’s a npi'7nn if it applies to birds. ¢ nTIAY
includes riding the animal, and putting objects on it. e If you’re putting the object nnnan ¥ (e.g., putting a blanket
on it to protect it from flies), it’s A"nIN. However, it’s 1IOX to fold the blanket on its back, even though your intention is to
make it the right size for the animal, because that isn’t 71X"7 the animal, rather the 71X of the person. (If you were to
fold the blanket on a table and then put it on the animal, the same results would be achieved.) ¢ It’s "nIn to tie on a
leash in order it shouldn’t get lost, but n'n' nmMw is 110X, ¢ The 0"nn (n"w 'o T"I') writes that it’s 1NN to tie on the
animal a small string that says wTIj, so people shouldn’t be 7w21 with it. ® It’s TIOX to lean on it (NI¥n DIPNa X7W). N
NINN it’s only N10X to lean on it 1N 722, and panTN it’s 110K even if it’s not IND 722, ¢ Milk of D'w T NN is NXAN1 110K,
so it’s 110N for a cow that’s wiTp to give milk to a baby calf that’s |"2IN. Some say it’s 110X even if the calf is also wiTp. 13121

DIwa (2',1 nNIa) holds that the actual milking is considered nTIay, and is 1IOX. ® You can’t use it to thresh nnian,
1
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however, if you brought it to the nxIann DIpn without intending for it to thresh, and it did it by itself, it’s 1nin. ¢ If you
were WITpn an 111y, then |2277N it’s 110X to do NT1IAV with the mother.

All the nTI2VI N2 NI0'N apply even if the Nnnina got a DIn, and can’t be used for a |27 anymore. If the animal had a DIn
at the time of wTpn, so it was never N2 N, it’s only 227N 110K, (An exception to this is a 1102, which has an |n 110X
nInn even if it was born with a nin.)

ANSWERS TO LAST ISSUE’S QUESTIONS:
Q. | am waiting so long for n'wn, | opened up the X'21 for some pITn, and it opened to the nxi1a of (21 ,v) N,
nIpNN "NoRX [N¥AY 121w, all those who waited for the n21xa will be protected! | continued, nawn Tan oi'n Da
17 2'wN, | looked at the n"'27n who explains that there is a double nnI1), one of the jInX) of the D'§aINwN, and
the other of the |InX1 of alani an. Immediately | understood that there is a connection of alani aia to nann. |
continued DN'2V |a' NIPAX 'T,|N'N NINYOA 1201,VpN! 191w D'}PIN 'T1, we won’t need any weapons, Hashem will
protect us! It got me thinking, if we are n2it this nJ1an for the n2183, what n'w do the 017 sing on na1an? And
what will be on nann wTin wa niv, which m'w will they sing? (1"927n "o v"1w1,"2% 'o N"IN 2Y PN N"IY ,2"0 N1 Dalo naon 'v)
A. In o»p10 ndon it says the 1w is *1n°27 23 7 Jan1IR, the 2% Mpn says the 1w is Y27, and the a%p ‘o 37733 ™»w and Y7wn M
say that there is no special 7w for n31n. On naw, according to the mw>w that there is a special 1w for no1n, the x93

(n3p 27 mwyn) holds that you say the naw 5w vw.
(.3%PW M MWYY 1772 NIWIT RVWD R X9T1 072077 0D 0N ,WTIPMI 1IN NI Sv D02 »15N7 2N /XY MR 7 27D >”RbN7A Syab WP 1MIN2I)

On mo1n wain wxa naw see footnote'.

Q. A tunnel (railway) that is under a ninapn n'a, and most of the residents got up already for o'nna nunn, but there are still
a few n'nn that are waiting for their complete |Ip'n, do | become Nnv by entering the tunnel?  (Draiwxan"ni"anivax 'v)

A. According to the 27y71 w1 the nxmv only goes up, since there is an ?nx underneath, the %nx protects the n¥1¥7 AxmIw
from traveling downwards. The (2”75 'v) 07am1 and 7911 oMp @797 hold that the axmiv travels downwards, and
underneath the n» is xnw, but the nxmwv doesn’t fill up the tunnel. And the 7911 9nx% 0797m holds that the nxmw fills
up the entire tunnel.

Q. | was preparing the cholent wTIp Nnaw T111Y, and little Moishy (who is Xnb) came to help and put the beans in

YTIp NAW TI22Y. Are the beans nxniv 22 while they are raw and unfit to eat? (1"n a"a p'xpivi,:na an'w 'v)

A. Food that must be cooked in order to eat is nxm1v 23pn. However, food that has to be pickled until it becomes edible,
if it is planted with the intention to eat (poIn7In), it’s AxmIw Y3pn immediately, but if it’s usually not planted to eat
(@771 *27) until after it’s pickled, it’s axmIv 2apn.

Q. | prepared the oil for the nJ1an NN, and some oil that was Xnv dripped onto my shirt, can | be 2110 my shirt
before | clean it, or is it a nx'¥n? (I'd rather 721V it first, otherwise if | put it in the washing machine it will be
NnonN the rest of the load and the washing machine)

A. Regular oil is not a 7%>xn, but 9117 #w is a 7X°%0 (732 1¥2 7777 ARIN QIR PIVY T MIR 07%p 7713 77WwR 57)).2

Q. NPT RWAT 2720 - a2 '8 wuT N X! Since | learnt that Xana, everything | learn | think about the wTpnn nn.
| started (n"0 1"vIN) nann NIa7n, the 8210 of going to the right and nixnn %V "'avn X, and | was thinking:
The n%V is shechted in 19y, and the DTh NPT is on NIAX N'NATA NP and N'NNT NfAWn. Am | supposed to
make a right which is the longer route to get to natnn niNT, or make a left which is shorter, or maybe | don’t
have to go to the natnn DT at all, and | can do the np"1 right away at n1ax n'natn p? | need an answer
now, because WTpnn N'a n12' nnn, and | won’t be able to stand the embarrassment, standing next to the
Nnatn not knowing what to do! (X"n 12 n"nan "ni,TANT "9 wn wUwl XML, 0T i0 Nne e ')

. According to * w1 you have to go to the nami o117 It seems from the x93 that you can go towards your left (the
shorter route), and the w”w1 holds that you have to go to the right. The n”»nn »»n wants to argue with »»w4 that you
don’t have to go back to the nami o117, and you can do the first np»r right away on no1px nomam 1p.

X7p "0 VPYN YAV .TNY DT RIN (VTIPN) DPIaY RAT DIWN (N1 N2ID) T 7PDAA NI 127N DYV .N" HY RIN PYN N Naway !
,N2N HV1A PPVANY 5712 NaYNY NINY .NNIN HVA PVANY PR NINN NM NIYIT aNd 1291 ,1310T12 N YAPINY YTY T3 RIN DYVNT AN
, 01970 NPWA D) NIIRIYD PTY RD2 IMDIAT DYVN 2921 .NIN PIPA NN ARMPD PPYDT DIVN IR TV RD MMIDIS DIVA RIN DYOM
RY 17109010 1IYHT H7OT IWARY ,IPY VN DYVT H7OT TWARI) N7 HY 1Y DINMIRY DY YV PY PIYY RN NYT .NNIN YV Y DY
19,0301 N YAPINY Y'Y 1T RIADN TIVY AW 2230 DAR PTNN TP RDM IMIDIDT HMMP 199 ,N" »apIinw yTh 73 81200 Y
A(RD7 MDA DI AT, TN IMTY

MOR W DR IRV Y PIpn 17 ROWI Y9N NN 1M 19N) 0T SY TApNY PIX NNV 113, Taan YW v TY 72 RY MaR pxinw ?
PRI TApNnN VIYM AT N L,(1999N TIaa NdYY NN
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